

Table of Contents

CHAPIER 1 FUNCTIONS	3
SECTION 1-1 INTRODUCTION TO FUNCTIONS	3
SECTION 1-2 ONE-TO-ONE FUNCTIONS	9
SECTION 1-3 POLYNOMIALS	10
SECTION 1-4 EVEN AND ODD FUNCTIONS	15
SECTION 1-5 CONTINUITY	18
SECTION 1-6 COMPOSITE FUNCTIONS	22
SECTION 1-7 INVERTING FUNCTIONS	24
SECTION 1-8 EXPONENTIAL FUNCTIONS	28
SECTION 1-9 LOGARITHMIC FUNCTIONS	30
SECTION 1-10 NTE ROOTS	35
AUARTED & REDRIATRICE	41
CHAPTER 2 DERIVATIVES	41
SECTION 2-1 SEQUENCES AND SERIES	42
SECTION 2-2 INTRODUCTION TO LIMITS	45
SECTION 2-3 EVALUATING INFINITE LIMITS	53
SECTION 2-4 EVALUATING LIMITS OF RATIONAL FUNCTIONS	59
SECTION 2-5 DEVELOPMENT OF THE DERIVATIVE	62
SECTION 2-6 BEHAVIOR OF THE FIRST DERIVATIVE	67
SECTION 2-7 FIRST DERIVATIVES OF POLYNOMIALS	68
SECTION 2-8 PROPERTIES OF DERIVATIVES	70
SECTION 2-9 THE CHAIN RULE	74
SECTION 2-10 SECOND DERIVATIVES	75
SECTION 2-11 DERIVATIVES OF TRIGONOMETRIC FUNCTIONS	80
SECTION 2-12 DERIVATIVES OF THE EXPONENTIAL FUNCTION	82
SECTION 2-13 DERIVATIVES OF LOGARITHMS	84
SECTION 2-14 IMPLICIT DIFFERENTIATION	85
SECTION 2-15 LOGARITHMIC DIFFERENTIATION	87

CHAPTER 3 APPLICATIONS OF DERIVATIVES	89
SECTION 3-1 SIMPLIFYING LIMITS BY USING DERIVATIVES	90
SECTION 3-2 EXTREMA	91
SECTION 3-3 CONNECTED RATES OF CHANGE	98
SECTION 3-4 APPROXIMATING TRANSCENDENTAL FUNCTIONS WITH POLYNOMIALS	102
CHAPTER 4 SINGLE INTEGRATION	107
SECTION 4-1 RIEMANN SUMS	108
SECTION 4-2 THE ANTI-DERIVATIVE	117
SECTION 4-3 INDEFINITE INTEGRALS	121
SECTION 4-4 DEFINITE INTEGRALS	123
SECTION 4-5 INTEGRATION BY PARTS	128
SECTION 4-6 SIMPLIFYING INTEGRALS BY SUBSTITUTION	134
SECTION 4-7 IMPROPER INTEGRALS	138
SECTION 4-8 CALCULATING AREAS BETWEEN FUNCTIONS	142
SECTION 4-9 PARTIAL FRACTION INTEGRATION	146

Integration by parts is helpful when the function inside the integral is the product of two expressions. The contents of the original function are replaced with the symbols 'u' and "dv," which are multiplied together. We also need to find the derivative of u, called "du," and the anti-derivative of dv, which is 'v.' Integration by parts entails reversing the product rule for derivatives. Recall that the product rule is:

$$(uv)'=u'v+uv'$$

Integrating the product rule with indefinite integrals yields:

$$\int (uv)' = \int u'v + uv' = \int u'v + \int uv'$$

Consider the very first integral on the left side. Remember that the integral of a derivative is the inner function (the function being differentiated). Therefore, we can set the above integrals equal to uv:

$$\int u'v + \int uv' = uv$$

Rearranging produces:

$$\int uv' = uv - \int u'v$$

The integration by parts formulas are slightly different for definite and indefinite integrals:

Integration by Parts Formula for Indefinite Integrals

$$\int u * dv = uv - \int du * v$$

Integration by Parts Formula for Definite Integrals

$$\int_{a}^{b} u * dv = \left[uv \right]_{a}^{b} - \int_{a}^{b} du * v$$

As an example, consider the definite integral below:

$$\int_{0}^{1} 15x * e^{2x} dx$$

To evaluate the integral by conventional means, we need to find the anti-derivative for the function in the integral. What function, when differentiated, would produce $15x * e^{2x}$? Finding this anti-derivative is most difficult. We could, however, break the function into two pieces. One part will be labeled 'u,' and the other component is "dv." Suppose we choose u and dv as follows:

$$let u = 15x
let dv = e^{2x} dx$$

The expression for dv will always contain "dx," where x is the initial independent variable. The formula for by-parts integration becomes:

$$\int_{0}^{1} 15x * e^{2x} dx = [uv]_{0}^{1} - \int_{0}^{1} du * v$$

To complete the formula, we need expressions for du and v.

$$du = 15 dx$$
$$v = \frac{1}{2}e^{2x}$$

du is the derivative of u, and v is the anti-derivative of dv.

$$\int_{0}^{1} 15x * e^{2x} dx = \left[15x * \frac{1}{2}e^{2x} \right]_{0}^{1} - \int_{0}^{1} 15 * \frac{1}{2}e^{2x} dx$$

Calculating the anti-derivative and the integral separately...

$$\left[15x * \frac{1}{2}e^{2x}\right]_0^1 = 7.5(1 * e^{2^{*1}} - 0 * e^{2^{*0}}) = 7.5e^2$$

$$\int_{0}^{1} 15 * \frac{1}{2} e^{2x} dx = 7.5 \int_{0}^{1} e^{2x} dx = 7.5 * \left[\frac{1}{2} e^{2x} \right]_{0}^{1} = 3.75 * (e^{2x} - e^{2x}) = 3.75 e^{2} - 3.75$$

$$\int_{0}^{1} 15x * e^{2x} dx = 7.5e^{2} - (3.75e^{2} - 3.75) = 3.75e^{2} + 3.75$$

The next example shows the high importance of choosing the correct expression for u.

Example

Calculate the following integral using integration by parts:

$$\int_{4}^{7} x * \sin(x) \ dx$$

Solution:

(a.)

The first step in integrating by parts is to choose the expressions for u and dv. Suppose we let $u = \sin(x)$ and dv = x dx. Now,

let
$$u = \sin(x)$$
 $\rightarrow du = \cos(x) dx$
let $dv = x dx$ $\rightarrow v = \frac{1}{2}x^2$

Note that the "dx" symbol must be included in the expressions for du and dv.

$$\int_{4}^{7} x * \sin(x) \ dx = \left[\sin(x) * \frac{1}{2} x^{2} \right]_{4}^{7} - \int_{4}^{7} \cos(x) * \frac{1}{2} x^{2} \ dx$$

The first anti-derivative can be evaluated by placing 7 and 4 in the expression. The integral on the right side will require another round of integration by parts. Let's set

$$u = \cos(x)$$
 and $dv = \frac{1}{2}x^2 dx$. Now,

let
$$u = \cos(x)$$
 $\rightarrow du = -\sin(x) dx$
let $dv = \frac{1}{2}x^2 dx$ $\rightarrow v = \frac{1}{6}x^3$

$$\int_{4}^{7} \cos(x) * \frac{1}{2} x^{2} dx = \left[\cos(x) * \frac{1}{6} x^{3} \right]_{4}^{7} - \int_{4}^{7} -\sin(x) * \frac{1}{6} x^{3} dx$$

This integral has become increasingly more complicated. We can evaluate the antiderivative on the left side, but the integral on the right side would require another round of integration by parts. This cycle of integration by parts appears to be continuing indefinitely. Did we choose the wrong value for 'u' at the start?

Suppose we let u = x and $dv = \sin(x) dx$. The integration by parts process becomes:

let
$$u = x$$
 \rightarrow $du = 1 dx$
let $dv = \sin(x) dx$ \rightarrow $v = -\cos(x)$

$$\int_{4}^{7} x * \sin(x) \ dx = \left[-x * \cos(x) \right]_{4}^{7} - \int_{4}^{7} - \cos(x) \ dx$$

If you become stuck in a repetitive cycle of integration by parts, start the problem over with a different value of 'u.'

Use the key below when choosing the expression for u. The first choice for u should be logarithmic functions, such as natural logs. If the original function does not contain logs, then search for inverse trigonometric functions. Work down the list until you find an expression that exists within your original integral, and assign it to u. If you choose an expression for dv that is higher on the list than the expression type for u, you might become caught in the integration by parts loop. You should try to find a value for u that is easy to differentiate, and a value for dv that is easy to anti-differentiate. The new integral that results from by-parts holds du *v, which must also be easy to integrate.

Optimal Choice for u:

L -- Logs

I -- Inverse Trig Functions

= -6.47626

A -- Algebraic Functions

T -- Trig Functions

E -- Exponential Functions

Example

Solve the following integral:

$$\int_{0}^{10} 4e^{x} * x^{2} dx$$

Solution:

Using the LIATE key, u must be $4x^2$, the algebraic expression.

let
$$u = 4x^2$$
 \rightarrow $du = 8x dx$
let $dv = e^x dx$ \rightarrow $v = e^x$

$$\int_{0}^{10} 4e^{x} * x^{2} dx = \left[4x^{2} * e^{x}\right]_{0}^{10} - \int_{0}^{10} 8xe^{x} dx$$

Solving $\int_{0}^{10} 8xe^{x} dx$ will require more integration by parts.

let
$$u = 8x$$
 $\rightarrow du = 8 dx$
let $dv = e^x dx$ $\rightarrow v = e^x$

$$let dv = e^x dx \longrightarrow v = e^x$$

$$\int_{0}^{10} 8xe^{x} dx = \left[8x * e^{x}\right]_{0}^{10} - \int_{0}^{10} 8e^{x} dx$$

$$= (8 * 10 * e^{10} - 8 * 0 * e^{0}) - \left[8e^{x}\right]_{0}^{10}$$

$$= 80e^{10} - (8e^{10} - 8e^{0}) = 72e^{10} + 8$$

$$\int_{0}^{10} 4e^{x} * x^{2} dx = \left[4x^{2} * e^{x}\right]_{0}^{10} - \int_{0}^{10} 8xe^{x} dx = 400e^{10} - (72e^{10} + 8) = 328e^{10} - 8$$

Example

Find the indefinite integral for $f(x) = \ln(x)$.

Solution:

Must Find: $\int \ln(x) dx$

let
$$u = \ln(x)$$
 \rightarrow $du = \frac{1}{x} dx$
let $dv = 1 dx$ \rightarrow $v = x$

$$let dv = 1 dx \rightarrow v = x$$

$$\int \ln(x) dx = \ln(x) \cdot x - \int \frac{1}{x} \cdot x dx = \ln(x) \cdot x - \int 1 dx = \ln(x) \cdot x - (x+c)$$
$$= \ln(x) \cdot x - x + c$$

Example

Evaluate this integral: $\int \cos(x) *8x^2 dx$

Solution:

let
$$u = 8x^2$$
 \rightarrow $du = 16x \ dx$
let $dv = \cos(x) \ dx$ \rightarrow $v = \sin(x)$

$$\int = \left[\sin(x) * 8x^{2}\right]_{0}^{1} - \int_{0}^{1} 16x * \sin(x) dx$$

$$= 6.73177 - \int_{0}^{1} 16x * \sin(x) dx$$

let
$$u = 16x$$
 \rightarrow $du = 16 dx$
let $dv = \sin(x)$ \rightarrow $v = -\cos(x)$

$$\int_{0}^{1} 16x * \sin(x) dx = \left[-16x * \cos(x) \right]_{0}^{1} - \int_{0}^{1} -16\cos(x) dx$$

$$= -8.64484 + \int_{0}^{1} 16\cos(x) dx$$

$$= -8.64484 + \left[16\sin(x) \right]_{0}^{1} = -8.64484 + 13.46354 = 4.8187$$

original integral = 6.73177 - 4.8187 = 1.91307

Example

Evaluate this integral: $\int_{2}^{5} \ln(x^2) *(x^7 + 13x^2) dx$

Solution:

let
$$u = \ln(x^2)$$
 \to $du = \frac{1}{x^2} * 2x \ dx = \frac{2}{x} dx$
let $dv = x^7 + 13x^2 \ dx \to v = \frac{1}{8}x^8 + \frac{13}{3}x^3$

$$\int = \left[\ln(x^2) * \left(\frac{1}{8} x^8 + \frac{13}{3} x^3 \right) \right]_2^5 - \int_2^5 \frac{2 \left(\frac{1}{8} x^8 + \frac{13}{3} x^3 \right)}{x} dx$$

$$= 158,823 - \int_2^5 \frac{1}{4} x^7 + \frac{26}{3} x^2 dx$$

$$= 158,823 - \left[\frac{1}{32} x^8 + \frac{26}{9} x^3 \right]_2^5 = 158,823 - (12,568 - 31) = 146,286$$